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on the title page of the Booklet and in the space
provided on the Answer sheet will neither be
evaluated nor his result declared.

2. The paper contains 170 questions.

3. Attempt all questions as there will be no Negative
Marking.

4. The questions are of objective type. Here is an
example. Question : 8 Taj Mahal was builtby__
(A) Sher Shah (B) Aurangzeb
(C) Akbar (D) Shah Jahan
The correct answer of this question is Shah Jahan.
You will therefore darken the circle with ink pen
below column (D) as shown below :

A B C D
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5. Each question has only one correct answer. If )03
give more than one answer, 1t will be considere
wrong and it will not be cvah_lated. Clmngu':g.
cutting, overwriting and erasing of an answer
will be treated as wrong answer.

- wherever provided may
6. The space for rough work wherever provided Ty
be uti[fized by the candidate. You are not to use any
portion of the Answer Sheet for rough work. .
7. Do not mutilate this booklet in any mannct. Serious
damage/mutilation may entail disqualification.
8. Do not leave your seat until the Answer _Si}cgts have
been collected at the close of the c.\'nn?mntmn. '
9. Candidate will not leave the exnmmnuml m]olnlull
stipulated time is over and only nll‘l&r uﬂ‘ms
handed over the Answer Sheet to the statb-on
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All questlons are compulsory. /

QUESTION BOOKLET

This question paper contains 170 questions. / %9 STEF{‘FA' T 17099 8 |

e ft g

One question carries half mark only /T A % ﬁ:lﬁaﬁlﬂ ATHTIH B |

Maximum Marks : 85 :ﬂfﬁmn 3 - 85
Time : 2 Hours . 2 g0
1.  Which of the following sources of energy does not pollute the environment 7

(A) Water (B) Mineral oil  (C)_Uranium (D) Coal

ol o1 frefeifaa 7 | A o1 9 gaie S & = ?

(A) & (B) @S dd. . (C) (D) Wi
2. The Cape route provides link between Western Europe and

(A) Africa _ (B) Far East

%_‘q) North America (ﬁﬂ; South America

< gfvart 0 3k % o= o7 WM e 2
~ (A) InhH (B) %‘{é i (D) <faor e

3. i owing ing is the main occupation ?

(A) Medlterraneantype b aphenadatar =

C) China type ©
i o S
(A) IR ThTL,

(C) =TS IR

The capital of Austraha is
(A) Sydney . B) Perth

(A)ﬁE'Fﬁ | (s)wf

Which of the following rivers is not fed ‘- the snow field known as ‘Himal’ ?

A) G B). Y Gandak God
E) ang%ﬁﬁqgﬁw%%gam%%a?ma :rgf oavan

(A) T (B) #T D) rhmaﬂ
Which region is frequently affected by troplcal cyclones in Indla 9
(A) Gujarat coast | ' < - 00 |1 B))Coromandal-edast

(C) Konkan coast . (D) Malabar coast
S |1 & Ad 4 mﬁa@ﬂwmaﬂ-wmﬁa@m% ?

(A) AW (B) FNAAM® (C) ®iwUTE (D) HAER

In India, diluvial forests are found in the

(A) Andamans . (B) Sunderbans -
(C) Aravallis (D) Southern slopes of the Himalayas

YT & SATATER & T 1 & .
(A) feami (B) Hexad H i
©) smmed (D) fewera 3 gfioft e

3 ~ Code No. : C-587/2019/Series-B



10.

12.

13.

14.

15.

Which mountain range stretches from Guijarat in the west to Delhi in the north ?
(A) Aravalli Range + (B) Vindhya Range

(C) Satpura Range D) Kaimur Range
ﬁqmqéa%vﬁwi%auﬁwﬁmﬁ e heft 2 2

(A) 3wEett dvft (B) femdeh  (C) wageTdoh (D) g Avft
Kharaghoda is the leading centre of salt industry of

(A) Rann of Kutch (B) Karnataka (C) Kerala (D) Rajasthan
GG %51 & 90 S w1 ennit g2
(A) FBHW (B) wlH (C) (D) TSIEAH

The Agra canal draws water from which river ?

(A) Gaﬂ%g (B) Yamuna (C) Gandak (D) Son
SATRT T 1h8 Tt & et TG0 el 8 ?

(A) T (B)" =g (C) TsH (D) &H
Which of the following is not a Kharif crop ?

A) Barle (B) Rice (C) Jowar (D) Sesame
oo § 4w O e e T 2 |

(A) S . (B) wEw (C) =R (D) fa=
Bicameral system is a feature of which of the following form of govemmenf ?
(A) Parliamentary system (B) Presidential system

C) Federal system _ (D) Unitary system

o7 e FEfeTRad o 8 TR & fopg ey =51 agor 2 2

(A dedm e (B) sTemEfi e
(C) GEig == (D) TshlcHeh TG
Objective resolution was moved in Constituent Assembly by
(A) Jawaharlal Nehru (B) K.M. Munshi

(C) Kiran Desai . (D) None of these
Seefta s, et @1 3 fhess grr o T oy 0

() ST (B) . i &
(C) oo eatd ‘ D) T = 7

Which language is not mentioned in 8" Schedule of the Indian Constitution ?
(A) Sanskrit (B) Sindhi "(C) English (D) Nepali

T T GfeT < 8efl Tgght 3 =1 = W Twido

(A) q&pd B) fah ©) sy (D5 37t

How many subjects are there in Union List ?
g g | Toreet g7 . et
(A) 51 - (B) 6l (©) 66 (D) 97

(ode No. : C-587/2019/Series-B 3 ——



16. Which one of the following is not an element of the state ?

A) Populatlon (B) Land (C% Army ~ (D) Government
3} I 1 T T 1 a T8l
(A) SHEEI (B) (C) & (D) TR
17. Formation of a new state in India is done by the Parliament with
(A) Simple majorlty (B) Special majority
(C) Without majority (D) None of these
TRAA T HIEAGEE e o fEnameg |

(A) TR EEAd (B) fRwEgma  (C) frmagma (D) w0 @ W

18. Right to privacy comes under which article of the Indian Constitution ? .1

fororelT o1 SRR WA HISHH o fehdl STq=ee, o Taid AT 2 ?
(A) 14, (B) 18 (C) 20 (D) 21

19. 'Who can restrict the Fundamental Rights of the cmze s?
(A) Parliament (B (D) None of these,

\

(A) THg (D) HHBIETET

20. Right to property is !P:" y
: (A) Fundamental right
(®) Moral rlght ﬁ,.-»‘*‘

(A) ﬁma&m@
(C) e Al

21. 'Who held the post of Pre51dent of Indiz ,
(A) S.Radhakrishnan (B) K.R.Narayanan
(C) Neelam SanJeev Reddy . " (D) Dr.Rajendra Prasad
YR o TPIT Ig 9L I I SLAET ? |

(&) TH. THFIH g
©) aﬁawsﬁdi}ft s do It

22. Attorney General of India has the right to audience in
A) Session Court
B) High Court

C) Supreme Court
D) any Court of I;%N within the temtogy of India

I o HETATITE] @ il
(A) VYA TR H
(B) SHAMEEH _
(C) I=a| e |
: (D) 'mm aamﬁaﬁﬁeﬁ%ﬂﬁﬁﬁ;wﬁ

Lo SLLLiii Code No.: C-587/2019/Séries-B




23.

24.

_26.

27.

~28.

29.

30.

Who is the executive head of state in India ?

(A) Prime Minister (B) President

© gabinet Secretary 2 (D) None of these

WA | T T HIREHRI TE ? / _

(A) T (B) Twufd () FfreatE (D) FH A TE
Who is competent to dissolve the Rajya Sabha ? _

(A) The President (B) The Vice President

(C) The Prime Minister (D) None of these
T a9 fqefeg s A s gem 2 2 . .

(A) Tgafy B) SU-Tgely  (C) wwEEh (D) ARG
Which of the following is the first woman speaker of Lok Sabha ?

(A) Meira Kumar (B) Vidya Stokes

'C) Sushma Swaraj (D) None of these

A=feRad ¥ & w 1 wem wigen TeEE B ? |

(A) frugwr  (B) s (C) gym RS (D). F A IS T
Who generally presents the Finance Budget in Indian Palllament 2

(A) RBI Governor (B) Finangé Ministep.
(C) Prime Minister (D) Nene of'these
R T B o aIoe amm=a: o T B 2 0.

(A) RBITER  (B) ﬁﬁma‘i o (C) T4 (D) 3 A HI3 T

The number of Lok Sabha geafs of Goa is
e § AehEy Hiel B FE |

(A) 1 ~BNZ,F © 3 (D) 4
Which state hadinever a lady Chief Minister ?

1(_;% Tamiil Nadu :(B) Rajasthan  (C) Uttar Pradesh(D) Maharashtra
T Tt afgen qear 78t st 2

(A) @Iy (B) WA (C) SWWW (D) TN

The Supreme Court of India was set up by the

(A) Constitution (B) Law of Parliament
(C) Presidential order (D) None of these
YA T Gar= AT foreeh gr et fopar e 2

(A) "iewm ¢ (B) FEGHEET (C) Tgafid amw (D) FH & HiS T

Which ensures grassroot democracy in India ?

~ (A) Panchayati Raj (B) Inter-State Council
© Premdent %D) None of these
WIRe & U Sleha i GiHITea

(A) TSRS (B) m—mtﬁtﬂa(@ T (D) ¥ § IS Tl

e e e e —
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31.

32.

33.

34.

33.

36.

37.

38.

How many times have the President declared National emergency ?

(A) Once (B) Twice (C) Thrice (D) Never
fepaft X Trgafar ¥ TER 3Tt T feen 2 2
(A) THER (B) QW (€) TR (D) it

The change of position of an object is known as :
(A) Velocity (B) Acceleration (C) Displacement (D) None of these
el g <t f@:ﬁr H IR HEAT 8

C(A) 3 . (B) w1 (Cy fereamaa (D) 3 4 IS =&
The S.I. unit of heat is ..
(A) Calorie (B) Joule (C) Celsius (D) None of these"
AT <hl T, 3. 2
(A) ¥ (B) I () wfewrm (D) F7H & g 7

The vibrations of a string are ,
(A) Longitudinal %B) Transverss (C) Progresswe (D) ~Stationary '

T 1T o 6
(A) e B) s e wEh (D) RRr

The diaphragms of telephone aré fhade up of

(A) Magnets (B) Soft irons

(C) Thin sheet of any metal (D) None of these D
2w % srem Eﬁ Bl g | | iy
(A), T (B) g e

(C) ﬁwﬁsﬁmgeﬁqa?ﬁsﬂz (D) 3 T HIE L

The type of radiations emitted by radioactive substances are

(A) a-rays (B) PB-rays (C) y-rays (D) All of these
qereff gry Sewfia farfertor =61 JhR *

(A) o-fertom (B) P-femtm ©) yfem (D) Awft

The interstellar matter is mainly composed of which of the following ?

(A) Oxygen (B) Water ,(C) Helium (D) Hydrogen
STeRTAT a1 el s o 3 @ ot a1 2 2 2

(A) Ffedom  (B) I« (C) eiferam (D) ETESIeA
Sriharikota, the site for rocket launching in Indiz} is in the state of

(A) Kerala 8_3)% gzzlmg Nadu

C) Andhra Pradesh isha

ot - sy o o erer, A efeen For T 72 2

(4) ¥ (B) ey (C)7 AN (D) ifewm

. —— ———— .+ T S—— S — —— ——— —— S~
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- 39.

40.

41.

42.

43.

44.

45.

46.

| TR AUHI: I e §

- S ">y ATl V3 ’
Qil or soap film when seen in daylight appears coloured because ol

= (A) Reflection . (B) Refraction

(C) Surface energy (D) Interference
fort % BT & St 1 T <) e i T R BRI 8
(A) W= (B) 3¥qadH (C) T3 FHll (D) sl

For safe driving during rain and fog, a driver should use nlddilion.ul .
(A) Milky light (B) Blue light (C) Yellow light (D) Vlolc_l light
9 3R iR S Sh TR TR o fRY FEa ) sl @ <ifen fafer
(A) SREnwem (B) fmiwem  (C) denwsr D) o) weRTal

Which of the following is an example of an oxide ore «

(A) Bauxite (B) Malachite (C) Zinc blende (D) Gypsum
Trefeifian § & I TS ST HI IRV 8 2

(A) SieHTse (B) fomme  (C) Rw=is (D) o

Hydrogen burns with

(A) Smoky flame - (B) Yellow flame
(C) _ Blue flame . (D) Pale yellow flame
gTSSIo Soidl & Y |

(A) g saen(B) fidtsaen  (C) il saren (D) gerehl diedl seten

Organic compounds always contain

(A)mCarlgon ~_ (B) Oxygen (C) Hydrogen (D) Nitrogen
SHIa ATl § EHILEM 8

(A) HTET. (B) " (C) ®ESNH (D) TgEISH

Which glass is used for making lenses and prisms for optical instruments ?

~ (A) Crookedglass(B) Flint glass (C) Pyrex glass (D) Hard glass

RIS T &g 1 3R e 5791 % foru fora i 1 Iwm g 2 9

(A) T (B) TR HIN (C) WIS &g (D) mﬁ‘ﬂ

Double mode of respiration is found in

gg%q I%e%l%n W(B .mS_choGrnpg% | (C) Snail (D) Earthworm
(A) ST (B) faregg (C) dien (D) Sgam

Kangaroo is mostly found in
(A) Australia & Tasmania

(C) Sudan & Egypt (B) India and Sri Lanka

| (D) None of these
(A) Feferna qenf s © (B) T & sfteiepr

2(C) gemafmad (D) & = 7

Code No. : C-587/2019/Series-B I —



47.

th
(1]

A fatsoluble vitaminis o '
(A) VitaminC_ (B) ViaminB (C) VitaminD (D) None of these
o1 3 faoEsie (9aieH

(A) f@f=mc. B) @B (0) @D (D) FHAFE

The reservoirof R B.Cis

(A) Spleen (B) Bone-marrow (C) Liver (D) Gall-bladder
RB.C. S SSTE:

(A) =iE. B) F-F=1 () IFa (D) T
Pituitary-gland is located at the base of

(A) Kidney (B) Liver (C) Brain (D) Pancreas
Sy T % IR W G g6l 2 |

Q) == B®) T (C) e (D) IFANH
Which of the following diseases is a viral disease ?

(A) Tuberculosis (B) Elephantiasis

(C) Japanese Encephalius (D) None of these
eI RS K &hlﬂ%ﬁﬂ% ? = =

(A) TUiES (B) wrefiuig EO%

(& TSl qu-.:nmlsi\dﬁ (D) Eﬁ%aﬁéq‘é’f

Sex chromosome in human male is represented by

IS H & o= 8% TN YeiNa élag?

A X0 B) XX ©) XY (D) XZ

As output increases, average fixed cost

(A) Increases (B) Falls

(C) Remains constant (D) None of these

3ETed 984 W 180 [RR F 716 N

(&) & @) sHgAi |l (C) Fawdil (D) T A wE

A sitation of large number of firms producing similar goods is termed as

(A) Perfect competition (B) Monopolistic competition
(C)_Pure competition (D) Oligopol
%%ﬁmagmﬁﬁma@mmwg, FHEAT &
© (A) Tt wfaifar- (B)
(C) T< wiaaitar (D)
The best example of capital intensive industry in India is
(A) Textile Industry (B) Steel Industry
(C) Tourism Industry (D) Spare goods Industry
W § 4ot 7 U 1 ST IR R

e e B F——
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55. . Indian economy is a/an

(A) Capitalist economy (B) Communist economy
(C) Independent economy (D) Mixed economy
(A) YsTtardt arefegareen (B) W= Freferae
(C) waa refegaean (D) fafdr areiemEeen
56.  The goods which people consume more, when their price rises are called
(A) Essential goods (B) Capital goods
(C) Giffin goods (D) None of these

Hﬁa@iﬁmﬁnﬁnﬁa@mmmﬁﬂm%a@aﬁﬁ%w .
(A) 3evas aeqd (B) dofma gt (C) fifta=d (D) HIE G

57. Ina period of inflation and price rise the supply of money
(A) Increases (B) Decreases
(C) Remains the same (D) None of these
qgT-whifer 3T Hrra g bt st 3 7o A e
(A)} Tt B) wef o (E
58. The first income committee was established in
(A) 1947 (B) #1948 (&
59. Remedy finance is done'by i
(A) RBI ' p o
(C) NABARD o
(A) RBIZW B
(C) NABARD g/l (D) UgH fopma qitee g
60. Which of the following is on the insignia of the RBI ?

fA) Lionﬁﬁaﬁ:[ %]?%B];I e;‘?ﬂm qj';%(‘()3) Panther (D) tlephant

(D) 1950

gvelopment Council

61. Which is a development expenditure ? .
A) Grantin-aid =~ ) gB Irrigation Expenditure
C) Civil Administration (D) Debt Services
PR frEsmee

(A) HEES M (B) FEE=w  (C) dwwweE (D) FHw e
62. Which is the biggest tax paying sector in India ?

A) Banking Sector B) Transport Sector
C) Industrial Sector , D) Agriculture Sector
WA H ol ST I & hH FIR 2

(A) dRFT & (B) WEwdm (C) R a&w (D) HWam B
Code No. : C-587/2019/Series-B 0 - T



63.

64.

65.

66.

67.

'68.

69.

The practice of selling goods in a foreign country at o price below thejr.
domestic selling price is called

(A) Diplomacy (B) Dumping  (C) Double Pricing(D) None of these
faeelt vt A axgetl W I W R R @ w0 Hia W 9 F1 =awr
A) gfifc (B) s (€) AAH (D) T A i 7

Excise duty is levied on

(A) Export of goods

(B) Production of goods outside the country
(C) Sale of goods

(D) Import of goods

I, Yeeh ST STl |
(A) TG o frrfa @ (B) <1 % STET g3l & IedTed W
(C) g < forsra T (D) <37 & AT W
‘Plan Holiday’ was declared after which five year plan ?
(A) First (B) Second (C) Third (D) Fourth
Tore AT A o avanq asTeshTer Tt fema o 2
(A) e (B) e (©) T (D) =g
‘NIFTY’ is associated with
(A) Consumer Price Index (B) BSE Index
(C) NSE Index (D) None of these E5E
Tl fpmd el e . Eods
\(A) IUHIHI ﬁna BGEDES B) BSE g=iehich
(C) NSE g=eis (D) 319 @ HIE T
Insurance sector in India is regulated by
(A) -IRDA (B) SEBI (C) RBI (D) None of these
W H sfa & fopereh gro frafa g & 2 L
(A) IRDA (B) SEBI (C) RBI (D) 379 4 I3 Tal
Special Drawing Rights were created by
ferdry armeeor arfirenr feraas g T T 2
(A) IBRD (B) ADB (C) IMF (D) WTO
The Indian Institute of Foreign Trade is located at

(A) NewDelhi (B) Hyderabad (C) Mumbai (D) Ahmedabad
W ferdeft wemam e e @

— ——— S— — S S Sm— ————

(p)s\éﬁwﬁ B) ¥@ER  (C) 4 (D) ITEHEETG
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70.

71.

12;

73.

74.

75.

76.

77.

Code No. :

Sailor : Compass : : ?

(A) Student : Exam (B) Doctor : Stethoscope

(C) Pen : Officer (D) Painter : Artist
qriees : FE : : ? ;o

(A) Toamefi : ghien (B) faftreas  RUEhT
(C) A : AMHE (D) T : SHelThR

Which is different from the rest ?

SHE I AR=E?
(A) HGFED  (B) PONML  (C) NLKII (D) TSRQP

In a certain code language ‘GIVE’ is written as ‘VIEG’ and ‘OVER’ is
written as ‘EVRO’. How will ‘DISK’;be written in that same code ?

et ffPaa ey # ‘GIVE’ &1 ‘VIEG’ 3R ‘OVER’ &I ‘EVRO’ for@r &1

3 l?ﬁ%ﬁ ‘DISK’ 1 38 e ferar s 2 _

(A) SIDK (B) KISD (C) KDSI (D) SIKD
Which will come in place of question mark in the number series:
5,11,23,47,95,? A

qeE At 5, 11,23, 47, 95,2 T SRATEE o TAM W S
(A) 198  (B) 194 \(ej 191 (D) 185

Missing letters in the letter series
cb _ca bacb_ca_bac dis

&R &9l _cb_ca bacb_ca_bac dﬁﬁﬁ‘?{a&ﬂ%
(A) badddb  (B) addbbb  (C) bbbddd (D) addddb

If every second Saturday and all Sundays are holidays in a 30 days month
beginning on Saturday, then how many working days are there in that month ?

TR Y T B ATt 30 A % s TTg B AR T g wFER o wt e
<l ST & 2, T 39 H1E H fohe i femm ¥ 2 /
(420 (B 2 .(C) 22 (D) 23

If3><4'—13 7x8 49and6><5—74 then 8 x 4 is equal to
qfesx4=15,7x8= 493ﬂ16x5—74?h8><4w%
(A 24 (BY 26 (C) 28 (D) 30

What is the theme of the 2019 World Asthma Day ?
2019 forva sream fgga 6 w1 2 2

(A) Better air better breathing ./ (B) You can control your Asthma
(©) Understanding Asthma . (D) Stop for Asthma

—————
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78.

79.

80.

81.

82.

INS Ranjit, which is recently decommissioned by Indian Navy, was built by

. o
hich of the following countries 7 » |
ijl)l Germany (B) France (C) United States (D) USSR

msﬁﬂa,ﬁﬁmﬁﬁwmﬁﬁﬁmw,ﬁmﬁﬁgﬁﬁﬁ%&%m
g fafila ean 2 . -k
(A) S . (B) BF ©) dgmTE (D) TEEIR

The recently published book ‘Game Changer’ is the autobiography of which
of the following cricketers ?

(A) Wagqgar Younis (B) Javed Miandad

(C) Shahid Afridi (D) Imran Khan i

e €1 it geaes T <o frefetied 7 @ e, rsrex i s 2 2
(A) THRIEE  (B) &g firnge (C) wfeg srefdt (D) TR @M

Which country is the current chair of the 2019 G-7 summit ?

(A) France (B) Australia  (C) India (D)., Chile
2019 Si1-7 T Ht T HS HH AT R 2 \ R d
(A) (B) IRfemr  (C) WRA (0 «B) frcl

Which Indian sportswomen has attained the World No. I position in the
women’s 10 m air rifle event ? : ‘

(A) Manu Bhaker -(B)"l Anisa Sayyed oaE

(C) Apurvi Chandela (D) Anjum Moudgil ol
ﬁ:a%qgﬂaq%w%a@ﬁﬂ%ﬁaﬁﬁ 10 m TR TE%a 39 | fava 4. 1=y
g <6l 2 n ¥ /. '

(AY TEHN(B)) I EEG (C) AT REN (D) i Highe

Which South Ametican nation has recently joined International Solar
Alliance ?

(A) Ecuador. (B) Colombia (C) Uruguay (D) Bolivia
B T el SRR 2w B @ f s dhaft Ao 58
(&)~ $HISR (B) HE@—l  (C) W (D) ey

Which Indian personality has been conferred the UAE’s highest civilian
honour ‘Zayed Medal’ recently ?

(A) Shashi Tharoor (B) Narendra Modi

(C) Shahrukh Khan _ (D) Sania Mirza

frg v =afdd = T @ § .Ul & geie Anie eme e e |
g femam I 2 :

(A) TR e (Bafﬁ?rﬁl (CX TreeE @R (D) i st
T
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84.

86.

87.

88.

89.

90.

Who has been elected as the new President of World Bank ?

(A) Christopher Kilby (B) Christine Lagalfde
g;)a David Malpass . (D) Mfur-'rciﬁMacrl
o % U eI w9 A B T2

(A) fram et (B) frdmam (C) 2fas amwig (L) TR 3361

Which country’s Space Agency has successfully dropped an explosive on
asteroid Ryugu to make crater recently ?
g}% China ~ (B) France (C) Japan - (D) Germany

< SRy T Y T @ F saemE W % oY g @ W
ThHTATE faepiess i 2

(A) == ®) wig" (C) S (D) wHf

Which Indian Armed force has recently tied up with CSIR for joint
research ?

(A) In.dian N:cwy (B) Indian Army
%C{):I Indian Air Force _ . (D) Indian Coast Guard
%mﬂﬂﬁ‘iﬂ/q FTRA HA1 A B € W e e % g CSIR ¥ WY et

(A) WRAAFE-T (B) WRAAST (C) widia arg 31 (D) \%R?ﬁﬂHZ_I%

Isaa}k'Hayik, who has become the world’s oldest soccer player, is from
which country ?

(A) Saudi Arabia (B) Iran C) UAE D .
TS B3, 1 fava & e afﬁmmm%gzam%a@aﬁ(, %S‘&r’;e%:% 9

O

(A) ¥ 3RE (B) §H (C) 7w (D) 3R

RBI has recently tweaked LCR norms to boost liquidity. What does ‘LCR’
stands for ?

RBIﬁjm'é}ﬁamaaﬁ%meCRmmﬁﬁaﬁm | ‘LCR’ =T s §
(A) L}quidity Coverage' Ratio (B) Liquidity Carbon Ratio

(C) Liquidity Commodity Ratio (D) Liquidity Calculative Ratio
Which of the following banks has recently launched paperless account
opening facility for NRIs ?

A) ICICIBank (B) AxisBank (C) IDBIBank (D
%@?ﬁﬁm%amaﬁm%mm&%ﬂé&é@ggﬁm
& ?

(A) ICICIS% (B) U®®s% (C) IDBIS% (D) HDFC 3%

What is the India’s rank in the 2019 World Press Freedom Index (WPFI) ?
2019 3 3@ ThieH 357 (WPFI) & Wi 1 .o & 2
(A) 135% (B) A#0" (C) 145" (D) 150t

T~

—————
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91.

92.

93.

94.

95,

96.

97.

98.

29.

Amar Paul, who passed away recently, was the legendary folk singer of

hich language ? ]
E:;)lcodlag . (B) Tamil (C) Bengali (D) Urdu

7o ¥, TRt gret €1 ° e g3, mw%ﬁaﬁmaﬁw%
(A) Sfem (B) e (C) =meit (D) 3%

The state tree of H.P. is

A) Sal (B) Teak (C) Deodar (D) Shisham
. HTEIE R | ﬁ
(A) 9 (B) dTH @) CEER (D) sfism

The state game of H.P. is _
A) Volleyball (B) Hockey (C) Kabaddi (D) Kho-kho
B BC A RIS

(A) S (B) & (©) ==di (D) EI-@

Population density of H.P. as per census 2011 is axin

2011 & SHTUET STTER 5.9, F SHEEH 59 8 G2

(A) 109 B) 116 (©) 121 (D) 123

Nalwari fair is celebrated in which district of H.P. ?

(A) Hamirpur (B) Una (C) Solan (D) None of these
. & fopm St 1 SaiiSia st @ 2

(A) THRE (B) = (C) HieH (D) ¥HHSE TR

Hathi dhar is located in which district of H.P. ?

(A) Chamba (B) Kangra (C©) Mandi (D) Kullu

greft o g9, & fpm o A ﬁ*aa% ?

(&) v (B) wITel (C) € (D) Feoi

‘Chabutra hills’ is located in which district of H.P. ?

(A) Sirmaur (B) Solan (C) Shimla (D) Hamirpur

T feew ey S g i a2
(A) TR (B) HIeH (©) famem D) TR

‘Banganga’ is a tributary of which river in H.P. ?

(A) Yamuna (B) Chenab (C) Beas (D) Satlyj
‘s fR5. ﬁ%&mﬁﬁm
@ T @) (‘C/ @ (D) W
“Pooh’ sub-division is located in which district of H.P. ?
(A) Lahaul& Spiti (B) Kinnaur (C) Kr'u (D) Chamba
TR I .. 3 e e B fa 2 7
(A) @ wfifa(B) (©) T (D) ==

[ r
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~100.

101.

102.

103.

104.

105.

106.

107.

Halda festival is celebrated in which district of H.P.? b
(A) Kinnaur ~ (B) Chamba (C% Sirmaur (D) Lahaul & Spiti
Tree] e f&.3. & forg et & wemn st @ 2

(A) feei /' (B) = (€) Rk (D) et o wfifa

Dr. Y.S. Parmar belonged to which district of H.P. ? -

(A) Sirmaur (B) Solan ~ (C) Shimla (D) Kangra
. .. TR 2.9, % frg e S gafa 8 2 .

(A) R (B) Aed (C) Tammem (D) =TSt

Who was the first recipient of Pahari Gandhi Baba Kanshi Ram Award in
Pahari Literature ?

(A) Mian Goverdhan Singh (B) Jai Dev Kiran

(C) Suman Rawat (D) Keshav Narayan

TETE! Hifged H aTet et ST shrefite qreehR i FH STiehd i o ?
(A) i TedTfig(B) wREfRm (C) g TEd (D) ¥ ARE

Oldest Painting school of H.P. was

(A) Kangra (B) Guler (C) Basholi (D) None of these
few. 6l ood i e St oft S
(A) HTRT (B). TR (C) wEich (D) 374 A I3 T
Which is the largest administrative division of H.P. ?
(A) Shimla (B) Kangra . (C) Mandi (D) None of these
2.9, 1 o8 981 YES dsd s AT g ?
(A) T (B) Tl (€) T . (DY T & g T
Old name. of ‘Baijnath’ was |

" (A) Trigarta (B) Brahmpur (C) Hindur (D) Kirgram
ST’ BT GOHT 18 A1 : . .
() frd (B) FEX © feg w) Teram
Who was the founder of Chamba town ? \
(A) Meru Varman (B) Lakshman Varman
(C) Sahil Varman® (D) None of theger
T &L I GEATYH D AT 2

@) TFR  (B) WEwTR (O WRETR (0) AR A
Total number of legislative assembly constituencies in H.P. is

fe.u. ﬁﬁﬂﬂwm—éﬁﬁ%m%

(A) 3 (B) 4 (C) 36 DY 68
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108.

109.

110.

111.

112.

113.

114.

115.

116.

Who commanded the Mughal forces which subdued Kangra fort in 1620 AD. ?

hattar Singh (B) Durga Singh
) Nowwab Al K (D) Torman

(C) Nawab Al Kb o it vt e et 2 ot S e o
(A) R (B) gURE (©) Wwﬂ@m(n)eﬁm

In which century was the Mandi state founded ?

(A) Sixth (B) Ninth (C) Tenth (D) Fourteenth
w2l T Y v fope vaTedl § -
A) B - (B) A (C) cwef (D) =itegd
When Gandhiji visited Shimla for the first time ?

el o Ugelt SR Rme A e 6 2 |

(A) 1921~ (B) 1924 (C) 1927 (Dy—1930

Who started the Shivratri fair of Mandi (at Purani Mandi) ?

(A) Bhawani Sen (B) Ajbar Sen :

(C) « Chattar Singh (D) Mian Autar Singh

T 1 Tt ve (que O 1) ferm gy femam 2
(A) WEHiE. (B) sRIP- (C) wmfE (D) fri s fis

The total length of Kalka-Shimla rallway lineis akic]
HIAHI- AT TTa-ATS hl Fel =TS & s
(A) 925km  \(B)” 96.5 km (C) 106km— (D) 107 km

Suketi fossil park is located in which district of H.P. ?
(A) Mandi (B) Chamba (C) Kinnaur (D) Sirmaur
Sfaren 3erH fa.90. & fra e i ftma 2 2

(A) 7t (B) == (C) TR (D) kR

Central Potato Research Institute is located in which district of H.P. ?

Shimla  (B) Hamlrgq Man 1 (D) Kangra
e STFAIA G f 9. % fo g
(A). Tmer B) ®HRE (© ‘4‘6‘1 - (D) TSl
‘Sanja Vldytrt’Par ojna’ is in which district of H.P. ? |
(A) ullu %}% Chamba (C) KmnaLp (D) Kangra
7. g i a2 '

(A) m (B) =T (C) Fo=ik- (D) Himer
Who wrote the book ‘Lajjo’ ? .
A) Dr.Y.S. Parmar B) Shanta Kumar
gc} Ranzor Sin {D% Dev Raj Sharma
S forer foret 2 _
(A) SI. 97.7g. TER (B) <l AR
(C) iR fifg D) @S
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Directions : (Q. 117 to 121) : Choose the most appropriate option out of the four

given alternatives (A), (B), (C) and (D) to fill in the blank.

117. The centralisation of both political and economic powers has been

continuing ~___independence. '
(A) from (B) for 1€y “since (D) by
118. The judge recommended a severe punishment so that he
drinking in future. |
LAY desisted (B’)/ avoided .C) withdrew (D) recoiled
119. It has been observed that income widened between urban and rural
areas. |
(A) accretion  (B) tax (C) disparity (D) deviation

120. Coins are m in the

—_—_—

(A) mint —  (B) smithy (C) granary (D) arsenal

121. She was stanaing laughing a crowd of journalists.
(A) among (B) between - (C) in ) with

Directions (Q.' 122 to 126) : Choose the correct meaning of the given

idiom/phrase out of the four alternatives (A), (B), (C) and (D).

122. Torest on one’s laurels ‘
(A) to depend on one’s fame (B) to be a parasite
(C) to retire from active life (D) to crave for popularity

123. To meet one half-way
(A) to meet a person on the way
(B) to come to a compromise with one
(C) to half-hearted agreement
(D) to apologize

124. To have an old head on young shoulder§
(A) to have grey hair
(B) to be wise beyond one’s years
(C) abraggart
(D) a person with too much responsibuuty

125. Nigger in the woodpile
(A) to inhabit in forest
B) a serious disease
C) an honest person _
%D) something that spoils a good thing

126. To have a jaundice eye :
gA) to have Jgiun;ilce %B) to have fever
({)Jto be prejudiced D) to lose colour
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pirections (Q. 127 to 13

(C) and (D) which is
127. Feeble -

(A) weak (B) robust
128. Ghastly '

(A) pleasant - (B) frightful
129. Curb

(A) help (B) incite
130. Overt '

(A) secret (B) open
131. Deviate

" (A) stray , (B) conform

8w (9. 132 ¥ 134): 98 it feeae 9w |
132. 9

(A) T+ 3 (B) I+ 30
133. =

(A) T+ (B) H+ A
134, 3

(A) IS +d: (B) 3N+
féw (3. 1359 138): Ig g T |
135. (A) <feh (B) <Re®
136. (A) T - (B) A
137. (A) davft (B) dioguft
138. (A) fafre (B) faftee
9 (7. 139 141): s wa g |
139. YEUH

(A) &= (B) wgHite
140. 3fE

(A) Teged (B) 3TERR e
141. TSI

N X

(A) JI=fiya (B) 8

(©)
(©)
©)
(©)
(&)

©)

©)

©)

meek
spectral
restrain

copy

abide

1 + A

A+

A + d:

(C) <&

(C) Tonght
(© feoofi

(C) fadrs

(C) acgew

(C) &=

(©),

R

Bt e e S

1) : Choose the word out of four alternatives (A), (B)

opposite in meaning to the given word.

(D) emaciated
(D) horrible
(D) aggravéte.;-_'.
(D) divert '

(D) change
=3

(D) W: + IR -
(D) =ﬁ+m. |
(D) 3T+ 3=

(D) <&

(D) TorygHt
(D) fequft
@y fafis

(D) 37t 9

(D) wgshife

—
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. i g . ‘? |
142. Which is the port town of Indus Valley civilization = -

(A) Harappa  (B) Ropar - (C) Lothal =~ (W) /[Banawali
iy =T T T T R B AT ? )
(A) & (B) Uus (C) e (D) sEE!

143. The term ‘Neolithic’ is derived from
A) Greek word (B) Latin word (C) Frencl;)ve,rd (D) German word

W’wﬁqmﬁf@ |
)\) sy, (B) dRAwd (C) Hawgd (D) FHW=H

ta.. which of the following played the most important part in the Vedic

Economy ?
(A) Cattle breeding (B) Agriculture
$£) Trade and Commerce (D) Fishing and Hunting
e sreforaren # FrefeiRed § & freeh! wer wawget yfire of 2
(A) HYATeT (B) By |
(C) MR g iy | (D) TT-TgY 3R R
145. Which of the following had a monarchical form of government ?
(A) Kuru (B) Malla (C) Vatsa (D) Assaka
frafafaa o & ferad wmam 1 UeidEf wrey o1 9 ‘
(A) ® (B) Tewd (C) I™ (D) rHrht
146. In Vajrayana Buddhism, the spouse of the Buddha/ Bodhisatva was known as
(A) Yogini (B) Dakini (C) Tara (D) Matangi
TSI sg IRET H, 95/ TeEe i gt Saerdt o
(A) R (B) it (C) @ (D) wert
147. From which community did Jainism get most of its recruits ?
(A) Mercantile Community (B) Artisans
(C) Cultivators (D) Kshatriyas

fore e A S o 3 39% Hatfies ST we fpw 2
(A) R TEE (B) RewwrR () F9% (D) @fm

e, e, S
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148.

149.

150.

151.

152.

153.

154.

155.

Th n’s Edict of Ashoka is also known as .

(A)e %/llliel:]eor Pillar Edict I (B) Ma_!OI' P}llar Ed'%ct 1I
'(C) Minor Pillar Edict I1I (D) Major Pillar Edict V

37416 3 TERTH TSI (HEAH) 8 ¥ et &

(A) T TR I (B) g&d WG I

(C) g T 11 (D) Feq FrE V

The Red Sea route between India and Greece was opened by which empire ?
(A) Greek (B) Egyptian (C) Roman (D) None of these
TR 37 i ¥ wer wrer 9UR ARl R\ g E e e 2

(A) I B) frw (C) T (D) ¥ & I3 T -
The most important officers in the Gupta empire were the

(A) Kumaramatyas (B) Amatyas oD

(C) Mantrin (D) Yuktas EoE

o ey B T Tl St & . &

(A) T (B) 3T (C) = (D), 3%

Who among the following allowed the Muslims fo preach Islamic faith in
their empire ? : ’

A) Palas (B) Pratiharas ((% Senas, 7 (D) Rashtrakutas
%ﬂ%@ﬂﬁ'@{ﬁ?ﬂe{:ﬂﬁwﬁg@@ A1 geefires SmiaeeT <l ST e 2

(A) A (B) WhER 4 W(ChF (D) TgHRS

Before becoming the emperor, Balban was a deputy of
(A) Tltutmish _ » (B) Raziya
(C) Nasiruddin,Mahmud, ~ (D) Altunia

_ 2 .

Az, (B) W (C) TR (D) S
VX})latR inls_pi.red the lz/]%rhttﬁ%sl.gélgl}éﬁg(%r)lst 1Sle_rulelr_s in Df)l)hig
gligion itary mi tionali trioti
Sl e £ O e SR
(A) e (B) @ wfF  (C) U (D) e

A new technique of painting, known as ‘Siyahi Qalam’ became fashionable
A "Sirangch °(B) Shah Jahan (C) Ak (D) Jahangi

urangze ah Jahan Akbar ahangir
i('aamﬁqéaar-ﬁaﬁ, St I e’ A & o et o, fhaes e % <R
Teferd g8 ?

(A) 3N (B) Sm&ESTEl (C) ST (D)t

How many incursions did Mahmud of Ghazni made in India ?
W § gy Tt A TR JTshwvT fhu ? ‘
(A) 15 (B) 16 ©) 17 (D) 25
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156. In which year was the Ryotwari Sy=fm introduced ?

AT e fore o Wiy g8 ¢

(A) 1820 ~  (B) 1825 (C) 1905 (D) 1803
157. What was the emphasis laid on in all reform movements ?

(A) Religious reforms (B) Social reforms

(C) Both (A) and (B) (D) None of these

Tt GuRETd) sreie! 1 feg W SR fean i 2

(A) fiiss gur (B) |MIITh U

'C) (A) 3R (B) 3T (D) i &g &
158. The annexation of Awadh by the British took place in which year ?

ferfemi g srae =1 fyem for o e 2

(A) 1853 (B) 1854 (C) 1855 (D) 1856
159. The Indian National Movement upto 1905 was dominated by the

(A) Moderates (B) Extremists

(C) Revolutionaries (D) None of these

1905 eh TR TER SAQIeH H fohepl e 91?7 .
(A) ToERel  (B) TouREl  (C) swifasii@l (D) FH | hIg I

160. On which date did Gandhiji make his famous march to Dandi to break the

salt law ?
(A) February 15, 1930 (B) April 6, 1930
(C) March 12, 1931 (D) March 6, 1930

(A) 15%@d, 1930(B) 6318, 1930 (C) 129, 1931 (D) -6 ¥, 1930
161. ‘Wavell plan wa;s%iven in which year ?

e ST died o forg miefislt 3 witg et am forw feien 1wy 6 2

a1 A fopa au & 78 2

(A) 1943~ (B) 1946 (C) 1945 (D) 1949
162. Morains and Till are examples of :

(A) Argillaceous rocks (B) Aeolian rocks

©) %?h(':{igal ;%l%ngntary roE:gks (D) None of these

oA (feHie) 1 3T :

(A) TfeeHmE =g S (B) TG gl &

(C) femrht sramdt Tgri (D) ¥ A HIS e

*

. Earthquakes are not likely to occur in
1y A (C) Mexico (D) New Zealand

(A) Alaska a;n%f‘é(B) Brazil
e ®) sewd (O ARHE @) e

. s S, S, S, S — — ——
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164. The aviators of jet aeroplanes often avoid the troposphere and fly above it

because of the presence of
(A) electrically, charged layer (B) ozone. layer
C) water layer ° (D) * bumpty air 'pockets

mm@mﬁ%aﬁtmwwﬂ %ﬁ'ﬂﬂ

SR
(A)s ﬁgﬂaﬁﬁﬂwm) ATATR (C) ST - (D,_)’ mﬁ‘e‘aﬁﬂﬁ
165. Doldrum is a zone of . N :
~(A) inter tropical convergence zone (B) inter tropical divergence zone -
C) local winds . - (D) frontoly51s
~Y3ITd He fShashT 85 8 2 S o |
(A) IR IWHE siferr & (B) FeR ISR ESEl T TN & -
(C) e gamg (D) aramferT! o

166. Dolphin and Challanger ocean ridges exist in which ocean ?
gA) Pacific Ocean(B) Atlantic Ocean(C) Indian Ocean(D) Arctic Ocean
3 =eio

; e Tohd TEETR A & ?
(A) TG HEEIR (B) 3o HETETR
(C) fee wer@mR (D) 3Tchfeeh TEETR
167. Falkland ocean current flows along the south-eastern coast of
(A) Asia ! (B) Europe E15E
(C) Africa (D) South America B -
Fiepels TEETKY 9T e co-gfi e s oy st 2 ?
(A) TRET (B) Tu (©) axsﬁm (D) a’ﬁw eaﬁrfm

168. Which soil is famouis for growth of long | grasses ?7

: (A) Chestnut soil (B) Prairie soil (%C) Desert soil (D) Laterlte soil
S i e Tt 7 <l gfg & foe afig R 2
(A) =TT (B) AT (C) weHg (D) ﬁ%(rszzq'q'r

169. Out migration of people from Bihar to Punjab is the result of .

’

(A) Poverty . (B) Over-population
%rmPohncal instability (D) All of these
T U o AL hT IsioH S
(A) et 1 (B) atf SE@ T
(C) na?rf%lﬁaﬁiiawaﬂ (D) & ot
170. The ‘Masais’ mainly rear '
A) Cattle (B) Goat C) Reind D) Sheep -
S ) : A oas& (C) Reindeers (D) Sheep
(A) 'qé?\ﬁ (B) il (C) wfER (D) e
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KEY SET C-587 SUB INSPECTOR OF POLICE (POST CODE-729)} SERIES-B

P gefd W sRemd 9w &N (Provisional Answer Key) fa=i®d 21,07.2019 & o SUB
INSPECTOR OF POLICE, POST CODE-729 3 == vden & w=ifm & af? snofta & gav &
@ wed § @2 amufy @, o 7 fafEe s (Documentary proof) & e JnT SAfow | AT ¥
ﬂmwmmmmﬂmmmmﬁﬁﬂvme-mailmm
ﬂmaﬂ;’]ﬁljaﬁmmﬁmzﬂ,ﬁlﬂlﬂmSﬂﬁﬁﬁwmﬂfﬂﬁﬂﬁ'ﬂﬁhﬁi
amferat &wl wed wa anaefl um AW, 9E IS, @, o Wi i@ (Question Booklet) @
e 7 Wed W omed i B

1 A 35 B 69 A 103 C 137 C

2 B 36 D 70 B 104 C 138 D

3 D 37 D 71 c 105 D 139 A

4 c 38 C 72 | D 106 c 140 A

5 D 39 D 13 [ 107 D 141 D

6 B 40 C 74 D 108 C 142 c

7 B 41 A 75 D 109 D 143 A

8 A 2 | C 76 A 1 A 144 B

9 A 43 (B Al 77 D B 145 C

10 B 44 ﬁ‘l .I= 7!‘ B 146 C

11 A il X o D 147 A

12 C 46 |7 A [ 80 M A 148 C

13 A 47 ¥ csd” | INBE C 149 C

14 C 48 B 82 B 150 A

15 D 49 C i 83 7 C 151 D

16 C s0 | & 84 A 152 C

17 A 51 e 85 C 153 C

18 D 52 B 86 120 A 154 B

19 A 53 A 87 121 A 155 C

20 B 54 B 88 A 122 C 156 A

21 D 55 D 89 r 123 B 157 C

22 D %6 1 2c 90 B 124 B 158 D

23 B 57 A 91 C 125 | Dy 159 A

24 D sslleleS Quifl &Y Fisi=Tc: 160 B

25 A 59 A 93 A 127 B 161 c

26 B 60 B 94 D 128 A 162 C

27 B 61 B 95 D 129 B 163 B

28 D 62 C 96 A 130 A 164 D

29 A 63 B 97 D 131 B 165 A

30 A 64 C 98 C 132 A 166 B

31 C 65 C 99 B 133 c 167 D

32 C 66 C 100 D 134 D 168 B

33 B 67 A 101 A 135 B 169 A

34 B 68 C 102 B 136 A 170 A
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